nog, woirss : 60
.,u;, B : 60

2,63 ©I : 80 dTR TEH
A1 ¢o30Res Bhss o SR : 70 DD | Hoss, - 382853

DHOH : H. 2.30 00T 3.50 8 IVR

Sarst dnear || e wael dosdobs ndokl _
- (Il == 11M0828K

21UGE (B xode3

TR

L 3082 Sedsssdor 8 TP, IFoHD, dI 5. 2.30 &T Tos3T BRBUNTOIBT.
2. @meo ~°az~>3 NOQSOjDSSD Lao 5T, KiVcle) waéosaeb 23T @d% XoWORAT mmsm ROTSLOF 0N
'&oab@edoz:b mawm&o@

3. =B é%oda BRES® BT esz\‘n £,.90.80°. V3T wé%osoé aodcﬁo e—ad@ BoWoOAT IBRII, FoToLeFwon

: ;bgm;e%a
4, BIBOH STES® BT ) TR FOSZ0NT, TNTIS* BRer3Y LR3I 2B
5. éo._ao.esce. 33 BFOR %sﬁmﬁd _NHB mﬁdc:g Teer Ao BIBLER.
IREBR ' :

L 5.00.850°. 4033 TZFoHY BOQFTONE WO TIBEI), 333259000 / TOWRWREDTD / 99X 2OTTI).
2. @eose BeF 3. 2.40 § SH3T. ©YoDTINR, ; ‘

o T3 aﬁééo:b womﬁd@dm R ), FrRODIITTD.

° agé TEBOD 9N QT TFRIRY, &aewu} TS FTOTT, 3 £..00.65T°. 03T BEFODHY YVIORD.

—

w§ 3303)@ 23 60 wé’ H@CS) TS wﬁm 4 2T 6:3033 UDSCSH%"O “atb3d wé wﬁodb &R i,@é.%d)d &JOD
ua eﬁoﬂg*ofn eru:?‘pmfcg 2500370(3 uoz:b SZTRI, @c&% m@.

3. @weode B ©omd B 240 T I038 I, TPOH WOPNBYNT rewt ID 3 CN wé%’ofod)
0dR)Te TN mbsmhode QYT BOB WOBY W0 a’acﬁo BeeN3 Y Iamn] od:o@de msoﬁedo
2eNBRNG D ao&mﬁm 93&53@%%.@0&43 31 0ed e_-shdc’d T3 TSBOI, wdemo;’m ﬁm%@d) Sozs
&ao &TF, emsd ééoﬁoe‘) NZORD TWBOLROTIHT.

4. T3 wéﬁoda@a TR @@rbsamﬁdaaﬁ [D YUBTHIY, &.020.63T°. eméd BEBoDY wde 3 FoBoD AWela]

2 YD

VRS Nowoafud T3, e P FIW aao;'bofn tAplog woﬁao@s‘ wamocs TOTREDE &om@cﬂo
3 3,30M  WRONG METHODS

)
1

L

00T 8,
CORRECT METHOD |~ © ® @ © @ ® ® @ ©

® ®@ © ©p|l® ® © ® ® @ © ®
5. B £.20.50°. 93T BIECHW TS WS ST WBY FF TN, XY WS, 3B TDIRIT.
UZSOOCS £0.20. esc‘ Cptcle mgﬁoda@ OZORN mﬁa% WA, _
6. c:J)E:l TWEHODY ﬂraé&dod Evply mﬂwab o éo:d% 0To3ReNA.  £.20.8T°. UIT wl‘:?ﬁo:iaaq=l fad%;
vTodeNTSeR.
ZeJod B ©@omd . 3.50 8T S03T WIDDFTI), JQR.
£..20.80°. V3T TEFODW), 38R HeeTIOR CHFYSODY DeBO.
sRE@ Hedisgsd ﬁnm_ﬂw ZVODRI, wé ed (3230 wé) 35, [BBQ QENFRHOI BFwhHod o&@wéofom
(95 pFod ....m) Chxlatgy riert ﬁ.@d:a‘_ap.
Teud: 3I@ SR od IINVE SO &
QoNeT e:aﬁw;ﬁ T8 9:353:;.&; RRtELE

waﬁmmm@m i

25

d(prﬁaﬁ s EEg RZTNDS HIAY Wi FeEte HordeBITY
. LT ,J__:D_.N 3000 [OMNeST SHIODE, L08W HOW

Y|



LOBL8E




VERSION GODE ~ MENTION YOUR CET NUMBER

1GE [*=<11M0828K

| Total No. of Questions : 60
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This question booklet is issued to you by the room invigilator after 2.30 pm.

2. Check whether the CET Number has been entered and shaded in the respective circles on the OMR
. answer sheet. )

3. The version code of this question booklet should be entered on the OMR answer sheet and the respective
circles should also be shaded completely.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll
without any mistake. ‘

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.
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2. The 3" Bell rings at 2.40 pm, till then o
« Do not remove the seal present on the right hand side of this questlon booklet.

+ Do not look inside this question bookliet or start answering on the OMR answer sheet.

1. In case of usage of signs and symbols in the questions, the regular textbook connotation should be
considered unless stated otherwise.

2. This question bookliet contains 60 questions and each question will have one statement and four different

~ options / responses & out of which you have to choose one correct answer.

3. . After the 3" Bell rings at 2.40 pm, remove the paper seal of this question booklet and check that this
booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced by a
complete test booklet. Read each item and start answering on the OMR answer sheet.
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answer sheet for the same.
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copy) to you.

NOTE: In case of any discrepancy between English and Kannada versions, the English version will be taken
as final.



MATHEMATICS

In a certain town 65% families own cellphones, 15000 families own scooter and 15% families
own both. Taking into E:?onﬁideiation that the families own at least 6ﬁ‘e> of the two, the total

number of families in the town is

(A) 20000 (B) 30000
(C) 40000 _ (D) 50000
‘ n(A)
A and B are non-singleton setsand n{fA xB)=35.fBc Athen (¢ =
n(B)
(A) 28 | (B) 35
(C) 42 (D) 21
Domain of.f(x)v= I»?—'I Xi is
(A)R - [-1, 1] (B) (=, 1)
(C) (=0, N U (0, 1) - Ll (D)R-{-1,1)

The value of cos 1200° + tan 1485° is

(A) 145 (B) 3/
(C) =3/ (D) =1/
The value of tan 1° tan 2° tan 3°............... tan 89° is

(A) 0 @)1

©) 14 | (0)-1

SPACE FOR ROUGH WORK

1M0828K A1



neddwa
£

200D BeIWE 65% Bevowried Jek Fpex* RPOBI, 15000 EVOLITW BOLT* BP0
Sorie 15% BHEVoNY SOERR, BB, T3akwowd Bevowd) TdH STFTLQO

Rp00TY, & BIPBOS 2.6) BEvORY Foajain

(A) 20000 (B) 30000
(C) 40000 _ (D) 50000
‘ : \ , n(A)
2. n(AxB)=35 e Hort A sH3) B M) 03 riedew MeonveNs. BcABNGS C - =
n(B)
(A) 28 - (8)35
(C) a2 (D) 21
L X N
3 =757 O3NS gediy
(AR =[-1,1] - (B) (=, 1)
(C) (~0, H (0, Y (D)R = (-1, 1}
4.  cos1200° + tan 1485° ob e3¢}
(A) 2 (B) 3.
©—%, © =3
5.  tan 1° tan 2° tan 3° ............. tan 89° & e3efady
(A)0 (8)1
() Vs (D) -
SPACE FOR ROUGH WORK
A4 AMORIRIC r . 5



X

If | — | =1 then

=i
(A)x=4n+1; neN . (B)x=2n+1; neN
(C)x=2n;neN e ~ (D)x=4n;neN

The cost and revenue functions of a product are given by c (x) = 20x + 4000 and
R(x)=60x + 2000 respectively where x is the number of items produced and sold. The value of
x to earn Profit is |

(A) >50 (B) >60

(C) >80 (D) >40

_A student has to answer 10 questions, choosing at least 4 from each of the parts A and B.

If there are 6 questions in part A and 7 in part B, then the number of ways can the student

choose 10 questions is
(A) 256 (B) 352

(C) 266 (D) 426

If the middle term of the A.P is 300 then the sum of its first 51 terms is
(A)15300 (B) 14800

(C)16500 (D) 14300

The equation of straight line which passes through the point (a cos®6, a sin®0) and perpendicular

to x secO +y cosech =a is

X
(A)— + L a cosf (B) x cosf — y sinf = a cos20
a a -
(C) x cosB +y sind = a cos20 (D) x cosb — y sinb = — a cos20
SPACE FOR ROUGH WORK
G ARAMNONOV e 1



o

10.

X

1+i

— | =1 eswont

IE=
(A)x=4n+1;neN (B)x=2n+1; neN
(C)x=2n;neN (D) x=4n;neN

2,05h TN x eIV Sed, ) eSTRAD LU VBN ¢ () = 20x + 4000 F3
R(x) = 60x + 2000 e3ATHIT . ) x L VSN W& &R EJUEIIOE B0, e P

r9<23ez0w0 x HLIT 23eodn
(A) >50 . (B) >60
(C)>80 : (D) >40

2.2 STRHEAID 2o A o) 2o B I SR 4 3 B 0D, TBEROT 260,10 BITR
eVZORZETNDIR. z70ri A B6) 6 BINO) 1) wort B 38,7 BIrdmart SmHeain 1
2 8rivt, 308 E17GHES Besriv ozjatn |
(A) 256 | (B) 352

(C) 266 ' (D) 426

Re32030 FeBALIWES WTE SH=D) 300 AT, FET BB 51 BEMY BID)

(A) 15300 (B) 14800 -

(C) 16500 - (D) 14300

x sec@ + y,cosecé = a I} wo@oNE D) Dowd (a cos®, a sin®0) TEVT Fowd) Bers

A1

RAUY Bealad IQesFTE
X y
(A) = + ’y =a cosO (B) x cos6 — y sinf = a cos20
(C) x cosb + y sinb = a cos20 (D) x cosO — y sinf = — a cos20
SPACE FOR ROUGH WORK
1M0828K



. The mid points of the sides of a triangle are (1, 5,-1)(0, 4, -2) and (2, 3, 4) then centroid of the

triangle

- 1 ' : ool
(A) (1, 4, 3) (B) (1, 4, ?) (C) (<1, 4,3) (D) (?, 2,4)

Consider the following statements:

lim ax*+bx+c
Statement 1: | ————is 1(wherea+b+c#0)
X1 "ex2+bx+a

1 1
—e
o . lim x 2 1
atement 2 : —_—is—
X—> -2 3 a
(A) Only statement 2 is true (B) Only statement 1 is true
(C) Both statements 1and 2 are true (D) Both statements 1 and 2 are false

_ a b .
If a and b are fixed non-zero constants, then the derivative of—4 —— + Cosxisma+nb-p
X X _

where
-2 ! -4 2
(A)m=4x3;n=.§';p=sinx (B)m=;;n=x—é;pésinx
-4 -2
(C)m=;;n.éj)(—3;p=+sinx (D)m=4x3;n=;;p=—sinx
. ‘The Standard Deviation of the numbers 31, 32,33 ........... 46,47 is

17 4721
(A) E (B) =
(€216 . (D)alz
If P(A) = 0.59, P(B) = 0.30 and P(A N B) = 0.21 then P-(A'm B') =

(A) oM » (B) 0.38

(C) 0.32 ‘ (D) 0.35

i SPACE FOR ROUGH WORK

1M0828K



"

12

3202w weddny abGDowh) (1, 5, 1) (0, 4, -2) DI (2, 3, 4) BNGY &3 $ahas LY

Feoqa)

' 1
(a) (1, 4, 3) (B) (1, 4, ?) (C)(-1,4,3)

BYNR BedBriva MabIL;

lim ax*+bx+c
BeDB1:

—_— o1, (@Qa+b+c#0)
x>1  2+bx+a e

lim X 2

BeDB2: .
‘ ‘X — =2 42 a

(A) BeDE 2 H123, WO

(€) BePE 1 &b 2 TR T

P L ; b
a 23 b dRRERT 4T 4ooosTiven % ~ = + Cosx S AFRma +nb—p BATS e

(B) BePE1 o3, WO

1
D) (—, 2, 4
(B) = 2.4)

(D) BePB1 DDA 2 HTEP 3F),

13.
_2 . N —4 -
(A)ym =4x*; N =75 p = sinx. B)m="2:n="3;p=sinx
, -4 -2 ) N B N
(C)m=;;;n='x';;p=.—smx . (D)m=4x;n—x3;p——51nx
14. 31,32, 33......... 46,47 84 m.»%mz TR dFoIdain
: ’ 17 47%-1
A) [~= B
(A) 12 <! 12
206 ‘ (D)4 3
15. P(A)=0.59, P(B) = 0.30 &) P(A N B) = 0.21 eswan P(A'n B!) =
(A)OH ) (B) 0.38
(C)0,32 (D) 0.35
SPACE FOR ROUGH WORK
A1l 1M0828K S



2x;x>3
16. f:R — R defined by f(x)= x%;1<x<3 thenf(-2) +f(3)+f(4)is

3x;x<1
(A) 14 (B) ©

C)5 o)1
2X

7. LetA={x:xeR;xisnota positive integer } Define f tA—>Rasf(x)= ﬁ’ then fis
(A) injective but not surjective (B) surjective but not injective

(C) bijective (D) neither injective nor surjéctive

8. The function f (x) = [3 sin2x — cos2x + 4 is one-one in the interval
]

o & m o
w53 | el =

A ' [ -
@7 7] L e ?)

1 : >
9. Domain of the function f (x) = HE_T? where [x] is greatest integer < x is

(A) (<0, ~2) U [4, ] | (B) (- 0, ~2) U [3, o]
(C.) [—o0, 2] U [4, 0] : - (D) [~0, 2] L (3, )

0. cos

cot' (- 3) + f—} =
6
(A)O . (B)1

1
(\®) 72 ' (D) -1

SPACE FOR ROUGH WORK

) 1M0828K



2x;x>3
16. F:RORIDF()={x*;1<x<3 20w TYIRAATT(-2) +f(3) + f (4) = e3eain

3x;x<1
(A) 14 (B)9

(C)5 (D) 1 |
| -
7. A={X:x € R; x Q0207 2,01 z,ﬁﬁa-'yaﬁoi-'oﬁdegn}eBﬂd%f:AaRd{f(x):-x—_i—aod)'

mqiméd,b&dﬁ, f 020D

(A) HT - DT BTV Dewed YV, d/ e,

(B) Sreored BTT OF -DT YVITSV.

(©) evesab gems evds .

(D) 5% -2F VIFFP e D) ewrd LVIRTP ©9e).

18.  f(x) = 3 sin2x — cos2x + 4 GVITI) OF -DTTIDT LOITVD)

-T T T -7
A= 3 (B) (_6— =
-~ T - -7
”Tﬂ B) i

1 ;_
1B 0= pP-x-6 eV3IB Fed D) 28 [x] @o20wd x 1 B gz @3 sRdabeitha
rba, mpeFos |

(A) (=00, ~2) U [4, ] - (B) (- w0, =2) U [3, x]

(C) [-o0, —2] U [4, ] (D) [=e0, 2] U (3, o)

20. cos [cot"1 B3+ %] -

(A) O | (B) 1
1
(C) 2 (D) -1
SPACE FOR ROUGH WORK

A1 1M0828K "



. tan™ [—I;_— sin _E’zﬂ sin~'{cos s‘in-‘1 r%)]=
T
(A) 0 (B) 5
© 5 (D)

121 [*?
. A= 2 1 3;|B= 3 2|then (AB) is equal to
3 =

- )
.3 =3 =3 10
|2 3 @2
L3 7 - 3 7
©lo 2 P40 -]

. Let M be 2 x 2 symmetric matrix with integer entries, then M is invertible if

(A) the first cplumn of M is the transpose of second row of M

(B) the second row of M is the transpose of first column of M

(C) M is a diagonal matrix with non-zero entries in the principal diagonal

(D) The product of entries in the principal diagonal of M is the product of entries in the other

diagonal.

- If Aand B are matrices of order 3 and |A| = 5, IBI = 3 then 3ABl is

(A) 425
(C) 565

(B) 405

(D) 585

If Aand B are invert'ib‘le matrices f(hen which of the following is not correct?

(A) adjA = |AI A”"

(C) (AB)' = B-A"

(B) det (A-") = [det (A)]™

(D) (A + By = B + A™

SPACE FOR ROUGH WORK

1M0828K

A1



21.

22,

23.

24,

25.

tan™' 4 sin EI-] sin~'|cos|sin~* E)]=
B 2 21
(A0 ®) =
T
(&) 3 D)n

1 24 |% ]
Aeloi s o822 esAT (AB) 1t b

=i W -3 10
o2 of2®

-3 7 i -3 7
© [10 2} ®) Lo -2]

M 20205 303005 9085 FREBFOBNDHTOZE 2 x 2 eTeoor e503,5arNcd, &

M 20200 B,3edpexd o3 Babenelesond .

(A)M S ST 302) TN M S VRS BT BdTSraeriales.

(B)M S QUBS 9G@<ceen M 3 SR80 B02TOE BOJ3radrorielem.

(C) M 20208 ZPIBOT 903N, Bear3e) BRODT Beor o3 BatpNveles.

(DM 3,30 BRI Wo3NY ML) %.bé@oc’b gearddwha eodn¥ rHeow
woNg23em

A 23 B i 3 e Gelrad Srie aved,grivona) i IAl =5, 1Bl = 3 eswort [3AB| S 2S00

(A) 425 (B) 405 |

(C) 565 ~ (D)585

A 23 B e ,8eloesd) 2redrivonad), si 8¥80d Beddnvd anam @IS .

(A) adjA = Al A~ . (B) det (A”) = [det () '

(C) (AB)'=B"'A™" (D) (A +B)'=B"+A""

A1

SPACE FOR ROUGH WORK

1M0828K



Cosx 1 0
Iff(x)=] O 2cosx 3 [thenlimf{x)=

0 1 2cosxl X-—>T
(A) -1 ()1
()0 (D)3
] 23
Ifx®*-2x2-9x+18=0andA=|4 x 6 |then the maximum value of A is
7 8869
(A)96 . | (B) 36

(C) 24 1 (D) 120

=1 1<x<w _

At x =1, the function f(x) = i
XxX—1 —w<x<1

S

(A) continuous and differentiable
(B) continuous and non-differentiable
(C) discontinuous and differentiable

(D) discontinuous and non-differentiable

_dy
If y = (cosx?)?, then o is equal to

(A)—4x sin2x2 (B) —x sinx?

(C) —2x sin2x? (D) ~x cos2x?
d -
For constant a, o (x*+x® + a* +a% is

(A) x* (1 + logx) + ax®"! _ (B) x*(1+ logx) + ax*~'+ a*log a

(C) x*(1 + logx) + a® (1 + logx) -k (D) x* (1 + logx) + ,‘:1.a (1+ loga) + ax®!

SPACE FOR ROUGH WORK

1M0828K Al



26.

27.

28.

29.

30.

5

Cosx 1 o
f)=| 0 2cosx 3 |eswort limf(x)=a e3efadn

(o) 1 2cosx X>T
(A) ~1 (B)1
(€0 (D) 3
123

x3-2x2-9x +18=0e3wontA=(4 x 6 |C MOz 23ejain

: 7809
(A) 96 | (B) 36
C)24 (D) 120

3 _ 1<x<
X=1 ASXS® vE)

_ f -
R ity Xx—1 —0o<x<g1 EIE

(A) ea&a%)q Honn aaéﬁsowslﬁ

@ o
(B) 92 DorbIW WT ABABOEDZH V),

(C) Q23R TorHeH D) STWT QAR AZOTDIE

<) o

(D) 9923, DO ToTD JBIBLTHO;

-y = (cosx?)? eswort o ol
(A) —4x sin2x? (B) —x sinx?
(C) —2x sin2x? (D) —x cos2x?

d .
Q00T a1t — (X* +x* +a* +a¥) adv
@ dx oo

(A) X*(1 + logx) + ax*™"

(C) xX*(1+ logx) + a®(1+ logx).

(B) x*(1 + logx) + ax®~'+ a*log a

(D) x* (1 + logx) + a® (1 + loga) + ax®" .

A1

SPACE FOR ROUGH WORK

1M0828K
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31.

Consider the following statements:

’ . dy »Iogme 1
Statement 1: If y = log,x + log_x then d—x._T+7

log x d log x

d , . 1o
Statement 2 5 (1og,,x) =log 10 "¢ E(‘(logex‘) N E

(A) Statement 1 is true; statement 2 is false
(B) Statement 1 is false; statement 2 is true
(C) Both statements 1and 2 are true

(D) Both statements 1 and 2 are false

' -0
If the parametric equation of a curve is given by x.= cosf + log tan > and y = sin®, then the

e .
points for which d—i = 0 are given by

nw B ‘Tt .
(Mo=—nez | @6=@n+f=nez
(C)0=@n+fmnecz D)8=nmnez

; j : dy -
ify=(x-1?2(x-2)% (x - 3)° then 3 At x=4is equalto

(A) 108 (B) 54

(C).36 - (D) 516
2

' ‘ 10 . ot i
A particle starts from rest and its angular displacement (in radians) is given by 6 =%+-? .If the

angular velocity at the end of t = 4is k, then the value of 5k is

' (A) 0.6 (B)5

(C) 5k | (D)3

SPACE FOR ROUGH WORK

1M0828K A1



3.

32.

33.

34,

SYNR BePBNYRY, MDA

dy log,e 1
3@@31 y |°g1OX + |Og X de —:-L.i._,_

x .X
. d - logx d log x
BedF2: 3 109,09 =150 Toa 10 PR g2 ( og.x) = T

(A) BeDB 1 DWPNT ; BeDFd 2 ImANTI .
(8) BeV? 1 3TN ; BePS 2 I0AWNT .
(C) BedE 1 D) BeDF 2 HUR VDA .

(D) BeDB 1 DA 2 VR IHNEI.

, , ' '} 0
2,0t @y Beadah B Aneseadh BEFVLY) x = cosd + log tan —- DAy = sind AT esrd

dy

=0 QSHZSQRUO" WS DoTIND.

_nm ' K T
(A)O—-E—,nez . (B)G—(2n+1)‘—2.—,nez
(©)6=@2n+r,nez (D)0=nm,nez

| d
y={x-102(x-23(x-3)° ea.ﬁcmoﬂx=4ae?n%om
(4) 108 (5) 54
(C) 36 | , (D) 516

2t
2,0T) FEEY) AJY ~30?Doz:$ 9,002 eoBwort, 9wy éraex)eo:b SIS B O STt

20
20T AeBINT . t =4 = BRI 9ET Sredead Seried) k SATT 5k & eSejadn
(A) 0.6 ! (B)5

(C) 5k (D)3

A1

SPACE FOR ROUGH WORK

1M0828K 17



35.

; 3
If the parabola y = ax? - 6x + B passes through the point (0, 2) and has its tangent at x = —2‘

parallel to x axis; then

Aa=2,B=-2 (B)a=-2,p=2
Ca=2,p=2 (D)a=-2,B=-2
36. The function f (x) = x® = 2x is strictly decreasing in the interval
(A) (=<0, 1) (B) (1, )
(C)R (D) (oo, o) .
¥7. The maximum slope of the curve y = —x3 + 3x2 + 2x — 27 is
(A)1 (B) 23
(C)5 (D) —23
x?sin (tan™" (x%)
8. dx is equal to
1+x8
—cos(tan™" (x* cos(tan™ (x%)
@) ( ) +C
4 4
—cos(tan™" (x%)) sin(tan~" (x%)
= = +
(€) 3 2
: J‘ x2 dx
9. The value of ]|———is equal to '
heras o '
(A) log | x® +{x5+ a8 + & (B) log | x® —Vx® + a®| + ¢
1 Y o 1
(C)-?loglx3+\/x5+as|+c (D)?Ioglx3—¢x°+a"|+c
SPACE FOR ROUGH WORK =~
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35,

36.

37

38.

39.

(0, 2) DOEBAR 00T FoWRRED y = ax? - 6x + B FOBODE) x VFE, FAWROITTN

x= —g— &) BPran) LYREOBTD, e
(A)a=2,p=-2 : B)a=-2,=2
C)a=2pB=2 (D) a=-2,p=~2
f (x) = x* ~ 2x VI FEDAERN geedxba @osoaéaj)
(A) (0, 1) | (B) (1, =)
(C)R (D) (0, )

y = =x3 + 3x? + 2x — 27 S Bea3aiv nd, 2.6353) (maximum slope)

(A)1 (B) 23
(C)5 . (D) —23
3 =
J’x sin (tan™ (x%) s e ETE o
1+x8
—cos(tan™ (x%)) cos(tan™" (x*))
A +C (B) a +C
_ 17,3 ; A5
cos(ta3n (x3) e 5 Sin(tﬂf; (x™) ic

J’ X2 dx
e o eefain

(A) log | x® +Vx® +a%| + ¢ (B) log | x* —Vxé+al+c

1 . 1 _
(C)?|°9|X3“X6.+as|+c (D)Tlog|x3_—Jx5+a5]+c

A1

SPACE FOR ROUGH WORK

1M0828K
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— xe* dx
40. The value of ————is equal to
(1+x)° -
(A e*(1+x)+c (B)e*(1+x?) +c
X
©C)e(1+xP+c (D) e
: : 1+x
1+ sinx
41. The value of | ox|———|dx is equal to
- |1+ cos
X
(A) e* tan > +c (B) e tanx + ¢
(C)e*(1+cosx) +¢ (D) & (1+sinx) + ¢
T
4
42. il = J.tan“x dx where n is positive integer then o t 15 is equal to
0
(A9 (B)—
7
1 ' 1
C) — D) —
| (€ s (D) 9
4042
" X dx
43. The value of is equal to
oJ X+a0a2 —x
(A) 4042 (B) 2021
(C) 8084 (D) 1010
44. The area of the region bounded by y= \/~‘-16 = x? and x— axis is
(A) 8 square units (B) 207 square units.
(C) 16n square units (D) 2561 square units
SPACE FOR ROUGH WORK
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40.

xe® dx
o ejeiodn

(1+x?
(A)e*(1+x) +c (B)e*(1+x%) +c
(C) e +x)2+c (D) ——+¢
1+x
1+ sinx -
Q. '[ex dx & 23efadn
1+ cosx
X
(A) e* tan > +cC (B) e*tanx + ¢
(C)e*(1+cosx)+c¢ (D) e*(1+sinx) +c
L
4
a2, | = J' tan"x dx AEOE n GrodE BPEOFOBIITT |,y + 1, W eIy,
0 ' . ' .
@o B —
7
©)—~ (D) —
8 9
4042
j XX sesdom
43. Py sl |
R +/8042 — x
(A) 4042 (B) 2021
(C) 8084 (D) 1010
a4, y=y16-x2 202 HBTeobh =hI)x -GS 213 ST FTT T,eAT DYLEOF
(A) 8 23T SPRHW (8) 207 23630 AN '
(C) 16 B3TT oW (D) 2561 23T0 RN,
SPACE FOR ROUGH WORK
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45.

16.

17.

2 2

If the area of the Ellipse is EE + —;?2—; 1is 207 square units, then ) is
(A) + 4 | B)+3

©)x2 , (D) +1

Solution of Differential Equation xdy — ydx = O represents

(A) A rectangular Hyperbola (B) Parabola whose vertex is at origin

(C) Straight line passing through origin (D) A circle whose centre is origin

i dy _y+1 |
The number of solutions ofd— = —1 wheny(l)=2is
X X-

(A) three . (B) one

(C) infinite (D) two

- o ‘
. A vector a makes equal acute angles on the coordinate axis. Then the projection of vector

=
b =.5/i\+7j'\—ﬁon?is

Apul g
()15 ()fé-

4 3
C)o— D) ——
()5 ()5[3.

The diagonals of a parallelogram are the vectors 3/i\ + 63\ - 2!2 and —/i\ - 23\ - SIQ then the

length of the shorter side of paralielogram is

A) 273 (8) 14
()35 (D)4i{3

SPACE FOR ROUGH WORK
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45,

46.

47.

48.

49,

X2 2

+ L 21 502 Begr a3 Demeey 207 BEO aSHvaNGE) ) & 2.

25 a2
(A) + 4 : (B) +3
(€) 2 | (D) £ 1

xdy — ydx = 0 @9TTOR IDEFTVITW BOF0Y) B 6%#\3@719}??" QI3oH B, RRWBWDIT.
(A) 2,0T) ©0ead) e93BTHLOD

(B) —aoaairoe)zs q)oriaj) mrae) DoDASOHIA

(©) anraoebowcbxie’) BT éraerbai .\,w Tea3

(D) 2,0% B,33 BeoT,Y) mrae)a?)oz:b_arahd)gd :

+1
%‘l - L2 morte yi1) = 2 swor @BEOS FXESIRE SOFUNY Fos),
X X- . . ! 8
(A) three (B) one
© . (Q) infinite = .+ > = cote .- (D) two.

4B 3 ol ATRESS FTITOBH FaR O TRV FPBTG. IBB '~ Dees

) —> A
=B3b =51 +7]'\ -k B 23L&

A B) =

15 : ( )J_

(o) D

( ) R (B == SJ—

Ra370030 BdEbEET Seered WBB 3] + 6] - - 2k @) -1 - 2] - 8k e, Se72030
BDDERT 238 LWORAT VT |
a) 2103 ‘ T (B)1E

) 35 _ T pyals

A1

SPACE FOR ROUGH WORK

1M0828K | 23



50. 1fa . B =0and 3 + B makes an angle 60° with 2 then

(A)iR1=2BI (B)2 13l =i

© 31={3 i D)3 131 =B

»1. If the area of the parallelogram with ,5), and B) as two adjacent sides is 15 sq. units then the area
of the parallelogram having 35) + 2_b> and 5) + 35) as two édjacent sides in sq. units is
(A) 45 ' (B) 75
(C) 105 , (D) 120 -
2. The equa_tion of the line joining the points (3,4, M) and (1, -2, 7)is
X+3 y-4 z-1 ) - X+3  y—4 z-1
(A)——= =5 (B) : =
2 3 4 -2 3 2
x+3 y+4 z+1 x+3 y+t4 z+11
(©) = = (D) == e
-2 3 4 2 -3 -2
. 3 1 13
3. The angle between the lines whose direction cosines are| — 2 ' 2 3 2 and
, ( 3 1 3 ) %
4° 4" 2
A) (B) =
T . ) —
2
©= (D) —
3 "4
SPACE FOR ROUGH WORK
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50.

51.

52.

53.

2.B=00e 8O3 3 +b alv IOF 3 0Bt 60° BoeSTOLD FPBWS So3T
(A) i3] = 2 1B . (®)2RI=0BI
©) B1={3 1Bl s D) {3 131 =1BI

3 @ b BBBNYRY 3T wENYON BROBWE FerOrp0IT DEVFET DYEEF 15 WO
SN, HoMRGY 33 + 2B H) 3 + 36 LR, IF WeRNr BEOBWS 53}350636
BDELEBT DReEoF BTT SRS,

(A) 45 : (B) 75

(C) 105 - (D) 120

Dotd (-3, 4, 1) D) (1, -2, 7) ), FedIS Teslad BEFTEII)

x+3 _y—4_‘z—11 x+3 _y'—4_z—11
W——="3"3 B =3 "2
2 x+3 - y+4 z+1 x+3 R y+4 B z+ 11
I3 1 13 . : '
Bea3riy? BT éraeasaj)( y— )d)eb 3 : i 3 esAG3e), €3 Beadnw SIS
h 4 4 2 o 4 ) 4 9 2 . o ™
BReIJ)
(A) (B) =
T " ===
' 2
() — D) —
3 ' 7

A1

SPACE FOR ROUGH WORK
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54. If a plane meets the coordinate axes at A, B and C in such a way that the centrmd of triangle
ABC is at the point (1, 2, 3) then the equation of the plane is

Ax‘ y Z1 Bx. y z1
+ + =K + + - =
()1 2 3 ()3 6 9
Cx y z 1 - y z .

+ + = —_— - + =—
()1 2 3 3 ()1 2

55. The area of the quadrilateral ABCD, when A(0, 4, 1) B(2, 3, 1) C(4, 5, 0) and D(2, 6, 2) is equal

to
(A) 9 sg.units (B) 18 sq. units
(C) 27 sqg. units (D) 81 sq. units

56. The shaded region is the solution set of the inequalities -
y :

I

\ 0,5)

AN

x"‘ 0 /X
b
yI
(A)5x +4y >20,x<6,y23,x>0,y>0 (B) 5x +4y<20,x<6,y<3,x20,y>0
(C)5x+4y2’20,xs.6,ys3,x2_O,y20 (D) 5x +4y >20,x>6,y<3,x>0,y>0
SPACE FOR ROUGH WORK

26 1M0828K A1



54. 2,00 BIOEY Jerds YNV A, B &)3) C 39 BoPAwor evoeserss §8pe ABC o
rbchg Seor (1, 2, 3) BAY, & VeHIOW BaneFon |

X y  z X z

y
NS e b —=
(A) -+ 5=+ 5=1 B3+ 9i
x y z 1 X y z
i s S — S — — i = o o ——
Gl *tFitEss @) - +35 =1

55, ABCD esibgbead gor Dogbriw A (0,4, 1) B (2,3,~1) C {4, 5, 0) DD (2, 6, 2) SN, |
e3ghEes ABCD ab ddeeor ' |
(A) 6 2360 e Inw) (8) 18 36T VBTN
(C) 27 BTT SAINW (D) 81 23630 oI

56.  SEAb, rHHEAT PorS) ATRBHE SRV rieed

y
A

\ (0, 5)

\ 1

x' 0 (4'0) ’X

)

yl
(A)5x +4y > 20,x£6,y23,x20,y20 (B)5x +4y £20,x<6,y<3,x20,y20
'(C_)5x+492§0,xs6-.ys3,kz_o,yzo (D) 5x + 4y > 20,%>6,y<3,x20,y>0

$PACE FOR ROUGH WORK

Al 1IMO828K : ' 2



>7.

3 1 4

Given that A and B are two events such that P(B) = — P(A/B) 5 and P(A U B) =~ then
P(A) 3
(A) (B) 1

10 2

1 3
C)— D) —
(C) . (D) 5

If A, B and C are three independent events such that P(A) =P(B) = P(C) = P then P(at least two
of A, B, C occur) =

(A)P3-3p - (B) 3P — 2p2
(C) 3P? — 2p3 (D) 3P2

Two dice are thrown. If it is known that the sum of numbers on the dice was less than 6 the
probability of getting a sum as 3 i IS X

AL -3_5_.
()18 ()18
S Sy
()5 ()5

A car manufacturing factory has two plants X and Y. Plant X manufactures 70% of cars and
plant Y manufactures 30% of cars. 80% of cars at plant X and 90% of cars at plant Y are
rated as standard quallty A caris chosen at random and is found to be of standard quality.
The probability that it has come from plant Xis

L @38

o 58 o) 58

(€ 23 (D) 75
SPACE FOR ROUGH WORK

1M0828K A1



57.

58,

59,

60.

3 1 4
P_(B) ey P(A/B) = > I P(AUB) ="~ esrh3o3 A &) B Fre3Sny'=), &ee3on P(A) =
(A) Ra ¥ (B) L
10 2
(©) . (D) 2
5 5

A, B D3 C niwd st IZo3, FeSrivenad), P(A) = P(B) = P(C) =P e&ATT P(A, B, C )
BT, QTR - BoGPDWEI ) =

(A) P? - 3P " (B) 3P -2P?

(C)3P2-2P° (D) 3P?

DTG ToPNYRY), BVHPBERNT . ¥y eded teesdDE Joand wp3 6 eADZ )
b PEoNS . Beprivd) sied 3 AT Bogs@deab3ain

" 1 . 5

(A) P . B) <5

©—= o=

20T T SVIVPXDS Foor3ad VT qrassnwx DAY esNe3. X gye3sd) 70% FoOINYD)

eVIDATT, Y FE38) 30% HWNFR), e0IBWIA . X qraascse‘.) emaada?omw BoTINYE)

80% Horim Y c,:esscse") UIBI0IOT BoWrive) 90% FoWnw evIE, rheacheamofas
2,00 aadab omcs a&ﬁmﬁ eab.omri eaz:b emac.& msaabasm'aﬁcsd eotd) X @e3TROT

euIEIateNta ﬁoeﬁajmo:béom

- 56 ' o) 56
473 ®) 4
o 56 s 0y 56
83 (P29
SPACE FOR ROUGH WORK
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